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Run Pass
E.cc)z 3 7 Kickoff Eiectlf;:: Punt RF;Ltj:rtn Rért]ttjlrn gce)!’j 322
1 50 | 13 | T2+ | 6
A =2 nles [ 28 [ 3o
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5 Dy 69 5 T1*
1 sz [
B L2 <l 47 | bs
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Short | 4 Dl 69 Tl
Gaps | 5 QF 5 | 12
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C |2 49 |oeF r|DEF s|per R|DEF R|DEF S| 21
3 55 | 15 | 22¢
Short 4 60 16 47
Wide | 5 62 20 24
1 59 | 18 | 39
D =2 66 | x | 17
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short | 4 oFf s| 22 |IEOCINeN 61
Pass | 5 73 5 51 57 11
1 72| 8 [ 16+ | 19 | 20
E I>2 63 | 14 | 20+ | 3 | 22
3 54 | o | 43| 20
Long 4 61 11 36* DS
Pass | 5 65 | 10 | 33 [ 14
1 56 | 17 | 35 | 9
F L2 67 | 10 | 4[] 5
3 58 | x | 25 [ 16 | 34
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